PAPER - 11
MANAGEMENT STUDIES
Note : Attempt all the questions. Each question carries two (2) marks.

G@HLY : eréver eflenmés@Ers@Eh el wallssea|b. geubeurarmlh@d @rear®h (2) wdHituearsar.

1. If a firm raises Rs. 1, 00,000 by the issue of debentures at 10%, repayable after 10
years, the rate of return that equates the present value of cash inflows with the
present value of cash outflows is referred to as
1)  Explicit cost 2) Implicit cost
3)  Specific cost 4) Future cost
@@ BHineuerd 1,00,000 apUTUISEG URIGSmeT USHEH FHaldlsd alpssilLenaley,
USHSTWIBHBEHHGL Ler Hpollsh Hreamipustes  Oeuelluil (heteng. SILGUTmHWI
B GUOUBL aldsd Seenpul Leor o LUL@ WU oBpid e Geuefyg gL e
FOWTE SHUugk Gmmed GBILLIL LGB

1)  yeolium (B eflensv 2) 2_siefailulsd aflensw
3) ol elmev 4)  eaglismen alemev
2. In case the demand elasticity under imperfect competition is unity, the marginal

revenue will be

1)  more than utility, but less than infinity

2)  equal to unity

3) less than unity, but more than zero

4)  equal to zero

gilwummp  Gum’iguied Caopemeuulelt OBHDHHe| @BBIMD  slafled alefbLBlenev  eUHEUTUI
OmmeoTsHe0 Geuewt(BLd

1) uwweumlienld STLIGEID  FmBHEOTRIH.  DLETT6D  6T60MOWBMENSHS  HTLIQEILD

& MBEUTEISH]

2) @eIBIULEJ6d FLOGTENLD

3)  QEIMBILULMeVS  BHTLIQEVILD  (&H6DBEUTEIHI. SPML  UMIWHnHS — SHTLIQEYILD
SIS BT

4) UBRWSHBGHE FLOD

3. Open market operation means
1)  Borrowing by scheduled banks from the Central Bank
2)  Purchase and sale of Government Securities by the Central Bank
3) Lending by Commercial Banks to industry and trade
4)  Deposit mobilization
HWhH DBBTYF OFWOLTH 6TeTLH
1) oW aumSulelmbHE UL IQUIed eImISISend L 6ot
2) W eumSWTEL aumhISLIUL B, alBalUl L SFFThS STULUL USHTHIS6N
3)  al$Hps aumdlseTe CHTHMIGED, aelesHIHBEGHD SIULLL L6156l
4)  »UIUHOBHTNDHDH Fnl Lm0
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4.  Which fiscal measure should be adopted in correcting inflationary Gap?

I Reduction in Public Expenditure I Increase in Taxes
III Increase in Public debt
1) Tonly 2) I and IT only
3) TandIII only 4) I, 1II, 111
uewt aibs Bl Geuefenwd FAOFWIUSBEG 6bhFH HH SenaiB emswimeriiur Geuewi(HLd?
| OutslF CFalaISmas GMBHIH60 I auflsemen DIFHBLILIGSHSHIH60
[l QuraIbaL e OIFEME5H60
1) | w @ 2) | wBmd |1 w @G
3) | wBpd I w GHb 4) [, 1, Il
5. Investment in human capital is related with expenditure in
1)  Salary Expenses 2) Giving car facility
3) LTC 4)  Training Expenses
el CLPVSHMHH60 (PHSBH CFUISHED 6IILIGH BFCFevaL 6T OSHTLTLEmL W
1)  Fuend GFeve merr 2) BT auFs QUPHIGHEL
3)  uwest aBHLIL] FIeS 4) ulBdF OFeveser
6. It is easy to tell when Donald is not listening by the way he looks away when you are
speaking to him and he begins to tap his pen. Donald is communication through
1) lateral communication 2)  proxemics
3)  social distance 4)  nonverbal communication

BRISET  SIEUIL LD (8ua;Lb(8urr%|, CLTIMe0B SImDHSH STHL euThISDH  CBTeTenaleensn
aaiLg  Slauevenl LMTHG0LOUTEH  OFHfhHe, Sleuet Sleueidl  GUeTTeN6ISHSHL 1QEIT6I.
QLTETTeLIg6T HB6U6D GHTLTL @DHeT UPUITS GTRIBI Fnpleud 6161

1) udssauTl (s OFHTLiT 2) SIS BHID

3)  FWwsdH 0HTMV6 4)  QFTe0 DILVTH HHEUL OHTLTLY

7.  Affective conflict is:
1) impersonal and based on issues rather than a personality
2)  emotional and aimed at a person rather than an issue
3)  adivergent hierarchy of goals
4)  aconsequence of the requirements of the job
9 GUITEYST (LPJ6wT 6T6HILIGI
1) pUT FTITSHEH, DLEHDD DIEV6VTH FHBHE0HEM6NH H6NMDTHDS CHTEHIL G
2) o _ewiTe|yTeUDTen®l, (6 alHmel DevsHETHS CBTRIL Gl HbHeneoll LBIELISEIBI
3) BedGseer alflghen Ligpemev
4)  uemisgfw Cxhemeuliumhaeiler alenerey

8.  Work attitudes can be reflected in an organization through
1)  Job satisfaction 2) Organizational commitment
3) Both ‘1’ and 2’ 4) None of the above
Boleuanshae0 Liewll BLSHHH6eT Smimierd Lyduedddemser.
1)  uewi LoeHlemBe 2)  ppeuerd sLOUTH
3) 1 oBpw 2 4)  GCuomsmpw egHa|d Ee0en60
9. The group are more important to the group members than any
financial incentive.
1) Norms 2)  Values
3) Both ‘1l and ‘2’ 4) None of the value
g,@ o PUIMTHEDHESG DIUTHT FMMhHH GUSHTET L&D (PSS WILDTETH.  LIewT
aGwHemw el Gsomerg)
1)  aldsen 2) (DL WIMRIB6IT
3) 1 oBmb 2 4)  GuBampw 6I1HIe|LD6IHI
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10.

11.

12.

13.

The team of authors, who called organizational development as, practical application
of science of organization is

1)  Porras and Robertson 2) Fayle and Taylor

3) Rogger and Bennet 4)  None of the above

Bpleuer  euenT&Fd  elaiUZH  HBuaHHed  Dplalwenevd  CFWEOLIGSHHID  HEL (LPemMBL
LIBg et HHGHMBHH CFHfaldHd HiLjeonTael

1)  Gunmgmerd OB®ID FTLITL &Fevt 2) GuBuimed oBEID GIL_UIEVT

3) Gpregim wBmId Gluedteot 4)  GCoBOFTese 6T6M(HLOGTN)

In an interview, the interviewer performance is neither satisfactory nor correctable is
known as :

1)  Satisfactory - Promotable interview

2)  Satisfactory - Not promotable interview
3)  Unsatisfactory - Correctable interview

4)  Unsatisfactory - Un correctable interview

Qwm  GCrTamemieded, GmT  smTewileugd  QFweour®  HHUASTOTHAID  E606M6V.
FgilunensTead Bevenev 6TarLg Smimeid SIBWlILGSBS

1)  Foepugshsyn - G 5555 CbiTETene0

2)  FHmuglsb - GwuBsaHalweor GpbTET6mT60
3) HmuHsIomms - gfiiu’ L GpTsmenied

4)  HopuHsIoBss - gfiluLrg GpiTsTeam ey

Job Evaluation is a technique which aims at which one of the following :
1)  Establishing fair and equitable pay structure

2)  Analysing the requirement of updating technology

3) Assessing safety requirement of jobs

4)  Improving productivity

uemil  WLHIIH GHUSH  QRH 2 _H. OIF  BDEHHWILUBDIET 6lhdH  CHTHBHHIL 60T
GoBesTeTemILBES B

1)  pwrwiomer, gFwwomer arghul &L Lemwlienld CHTmmieddae0

2)  Gubu@said aTHsd HILUSCHMe GMISHHIT LUGLUTUIE] CFUIHe0
3) ueiselar &miydh CoHemeusamen LOFHINILIL 6D

4) 2 pusdssismer GLIBGHSIH6

If government sets stricter licensing requirement for electricians, we would expect all
of the following to occur in the labour market for electricians except for the

1)  Wages of electricians to increase

2)  Number of people working as electricians to decrease

3)  Demand for electricians increase

4)  Supply of licensed electricians falls

AUCUTEH SIFTHRIGLD, HHEMWTET MmeVOCFHFHd GCHemeuenul LOGTFTTL  LiewilWT6eNTHEHHE
BHEOL (LPeOBLLGSHIHITe0,  GFHTHeorenT SmISTIQUIEL  WOTFTIL  LIGwIWTeNTHEhSHHTHS
SPHHEWIL. WTaYD BLSGLD, eeienBd SHaly

1)  Weligmgl ueniwWTenTaEhddTen gnedlenl HIHSMAUILSBE

2)  Wergmyl uenilwmenitedenmall usniyflub oésefelr slewrenidbmabend @MBLILSBE
3)  Wersmyl uenilwmenTseEhdsTer Cheme oIFH&fL

4)  oafod Gummp Wergmyl uslwrenTseng alelGumsd gfujb

5 M1602



14.

15.

16.

17.

18.

19.

Intelligence Quotient can be calculated as

1)  Mental Age/Actual Age x100

2)  Actual Age/100 x Mental Age

3) 100/Actual Age x Mental Age

4)  Actual Age/Standard Age x 100

mlewieninldh HmerT SMImIID SHenTdSL LGB

1)  cwoasAHsBear auuwig /| 2 ewienowrer euwig X 100
2) o _eawiewowner alwig /100 X cpenenSHHmET oG]
3) 100 / o _ewienowlmen UGl X CLPen6THEmer allig]
4) o awewwwnen euwigl [/ Fymam euwg X 100

Re arrange the following steps of recruitment

I Searching 11 Evaluation and control
III  Planning v Screening

V  Strategy development

Codes :

1) II,II,I,V,IV 2y HI,V,I,IV,1I

3) IV,V, II,I1II 4 II,I,IV,V, III
SpHHTeEmID O CFTHmaLl LIgHemeT 0Bl QUOEIG 6lFuls

I BB ae0 I LHILINBH0, B BLLIGSHSHISH
[ S ed Vv QUL L 60

V 2 s5uwpems euenidd

GCETR

1) II,II,I,V,IV 2) HI,V,I,IV,1I

3 IV,V, II,I1II 4 II,I,IV,V, III

The term ‘Exchange Ratio’ is used in

1)  Profitability Assessment 2) Capital Structure

3)  Mergers and Acquisitions 4) Leverages

ufleuTdeemen aldlad eaiaid Ggmed Bmsd GBSl LWRLBGHSLILBGS B
1) @euru wHIIG 2)  PeLHE DIGMLOLIL]

3) BmasHHe0 BHID mBaIleupIH  4)  GELYGCHTEL allendsHHmest

Certificate of deposit is issued in multiples of

1) Rs. 5 Lakh 2) Rs.10 Lakh

3) Rs.1 Lakh 4)  Rs. 25 Lakh

mallildh CFTenassF Framisear CLmEBE OHTMS LOLMIGHET Shd ULDRISLILIHES BT
1) 5 ®e g 2) 10 &eul &1D

3) @m Bl Flb 4) 25 B6L FRIH6IT

In Walter model formula D stands for

1)  Dividend per share 2) Direct Dividend

3) Dividend Earning 4) Dividend payout

QUTEOLT LOmL60 eumuium’iged ‘D’ eleiiug Bensd GNsamaI
1) @6lbeum(m URISBSTEN Fe H0HTmS 2)  Gprg FeyHodTIND
3)  FYHOHTMS GU(HEUTUI 4)  FYHOBTMNS HELE(LPMB

Which of the following would not be acquired from a target company in the event of a
takeover?

1) Target company equity 2) Target company asset

3) Target company liabilities 4) Target company share price premium
Bevd@ Hnleued C@TeT(LpsHelled SHDdhHemi 618 OUBLILIL DT L T&I?

1) BedE pHineueat FHallly 2)  @odg BHoeuaF CFTHa

3) Bed@ Hmeued HLeHIGenLDS6I 4)  BevdHE Hpeuel Lk afleev LIfSWID
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20.

21.

22.

23.

24.

At its current capital structure of 45% debt and 55% equity, RV Limited’s beta equals
1.35. The expected return on the market equals 15% and the average market risk
premium equals 8.2%. What is cost of equity?

1) 11.07% 2)  17.87%

3)  6.8% 4)  9.18%

SBCUTMSHW  clpeuFHaaid &l Lemolilaiug 45% sLea, 55%  méallp. RV a0 Ligesr
iLm gweteno 1.35. omsTouiedmbal o1HT uMTéEslIUGL eugey 15  ggmafl omsmy
Mo MWD &b 8.2% eailed SiHeT Fhall lguiet aleney 6T6sTe?

1) 11.07% 2) 17.87%

3) 6.8% 4)  9.18%

The objective of Test marketing is to

1)  Test the market with consumers

2)  Introduce product in open market

3) Predict product’s performance and its future

4)  Test consumers with the product

Ganghemen DMSTQLLGHH06T B60dHE) 6IILIGI

1) 9SmsTgemUl 6UTIQHMBULITENTHEHL 0T CFTdHenen GFulag

2)  Pmbsy SmBTuiled OuUTmHemeT DSI(PeD OCFUIHED

3)  Oummeler CFWELHHIMVD HeWNHH DIGHET THTHTEVHMBH SHTLOTE &HIH60
4)  GummenL el mSTCuTmIEF CargHemen OFUIHeL

What are three popular methods for obtaining primary data?

1)  Experimentation; personal interview; Delphi technique

2)  Survey; interviews; experimentation

3) Interviews and surveys; observation; experimentation

4) Interviews and surveys; observation; Harrison methodology

(PSHSIMOG HIBM6T CUBIUSBSG W CPSTBI (LPHSU (LPHBHET WITen6u?

1) ufiGsnmmer, HaipuT ChTamemed, GO o S

2) &6y, GriTameuievmelr, LMGHTHeme

3) Cpirsmenievse’ wBmid F16ea, o BmICHTHH0, LINGFTHm6n

4)  Cpirsrenievsel wBmID FT6adbser, o BBICHTSH, ammigaiar STUIFS (Wes

Promotions that are aimed at intermediary in the distribution channel are known as
1)  Trade promotions 2) Sales promotion

3) Consumer promotion 4) Sales force promotion

udlite] BoLauPuisd @emLBewev  ChrdhHlmend OBTEHIL 2 _UITeYH6T  EmImIGILD
SIBwLGE et 60T

1) ouemis 2 _wiey 2)  elBuemenr o _uife]

3) msTCeutT 2 _wiey 4)  elBuemer s 2 W6

When producers, wholesalers, and retailers act as a unified system, they comprise a :

1)  conventional marketing system 2)  power-based marketing system
3)  horizontal marketing system 4) vertical marketing system
® BLSSH WITNTHET, QLTSS ABLIEHGTLIT6NTEH6T, Flevevemm ABLIEHGTLIT6NTH6IT

SIMAUHLD  QHREISTemHEH  DWWILUTEF  CFweoLBLCUTH  SleuTHelT  BHHG
SiemLoL I 6Ty &) ST 60TT

1) WLFOUTIMIEG DIRSTQULGSHSHID DIeHLOLIL

2) BBMEL SIYSHHENMOTHS OBTENIL. HBISTY HIENLOLIL

3) Sl L ORISTQLILGSHSHID DienLOLIL]

4)  OCemESSHTErT HBISTYLILGSHSHID DIEHLOLIL|
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25.

26.

217.

28.

29.

Marketing managers should adapt the marketing mix to and
constantly monitor value changes and differences in both domestic and global
markets.

1)  Sales strategies 2)  Marketing concepts

3) Cultural values 4) Brand images

2 BTG BB Feulss SmBTYHaNd SRSTYUILGSHSWD GeorenT, SIBISTIQS
Fal L 6nLDM6USH B WIT6mT(H &I LDTBMBRISGIT LOBBILD
Goumiumsemen Blemsowinall LNFaISHHLIQCW BhHHHe0 Geouemt(HLd

1) eoBumeT 2 &I (penBH6 2) OmBTgdH H(HHHTHBMIGHEN

3)  uewUTL(p WL SHeIT 4) LITeuoTL.  LIQLDMRIG6IT

Which photographic technique is used to record path of motions of the members of the
body during method study?

1)  Acrograph 2) Cyclograph

3) Cyclogram 4) Cycloscope

abhd UmsLUuL o H3, gewwlier o mliileaiser SuUmiiGUTemSL UHadESG (pemps
Sialed LWeTUGSSLILBGSBSH?

1)  osCyraym 2)  angsGenmalyml

3)  engsGenmdlymibd 4) mFHBemmerdBH L

Total work content =

1)  Basic work content + Excess time 2) Basic work content — Excess time
3)  Basic work content + Ineffective time 4) Basic work content — Ineffective time

QrgHm Ll 2 eTen_&old

1) SlQUILmLLI Lenil 2 6o _sslD + FmBHL STV DIEUBTFLD
2) SlQUILLLI Lenil 2 6o SdHlD — DIUSBTFD Fn{HHe0

3) SgliuemL 1 uenll o e6Tenldsd + uwerg Gmyb

4)  ougliuemnL 1 el o e6Ten e — uweuLtgh GCoyb

Work study is concerned with

1) 1improving present method and finding standard time

2)  motivation of workers

3)  improving production capability

4)  improving production planning and control

U6l U160 BFHeDIL 6T OFHTLTL{EHL WG

1)  SuBuremsw (wenpedwl GbLGHHIHE0 OBEID HIwTer ChIHewdHd &6l lgHe0
2)  UelWTeTTHeme 26185 @ el d3H60

3) swriiiiyg SHmpemer GLIGSHSHIH6E0

4)  swrfiiys HLOLed 1oBpId & GrUBGHSHme GLobLIBSHSHISH6E0

In break-even analysis, total cost consists of

1)  Fixed cost + Sales revenue 2)  Variable cost + Sales revenue

3)  Fixed cost + Variable cost 4) Fixed cost + Variable cost + Profit
Uf&as apl LuGLUTWIaIN OTHs almed GeuBens 2 6iTeNL dbaluleTengl

1) meeoliuBsHsiul L g +  alBUemerT auhHeUTUl

2)  wmlF GFeve] + alBUMET aIHEITU

3)  PoeoluBsaliulL Ggeve + wMEEF OFevey

4)  PeeoluBsHLLL L QFeva] + wTHF QFeve] + BeomULD
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Three Dimensional representation of an object is termed as:

1)  Automated drafting 2) Engineering analysis

3)  Geometric Modelling 4)  All of the above

@@ Qummeder (wlufiomen ISP SHoHHeD SRmeEID FnBLLGSBSH

1) srelwrs eumyey 2)  Qumiuiwed u@UuTUiey
3) Qurlfé wredml 4)  GCBOsTeaIe SIENTHHID

The collection of all possible events is called

1)  ajoint probability 2) a simple probability

3) asample space 4) the null set

6T606VT  FTHBHLOTE [HlBLDeH6Melr OHTGSUL BmImeID DIENWSHBLILIGS BRI

1) @ sgL@B Frhiwiun® 2) @@ eleflw grdHHwiumih
3) @ wrdHfl GLIb 4) @m OCeuBmid HewIDd

Match the items given in List-I with most appropriate options given in List-II.

List -1 List — I
(a) Centroid Method (I)  Multiple Regression
(b) Hierarchical Method (IT) Factor Analysis

(¢) Relationship between a single metric dependent  (III) MANOVA
and two or more independent variables

(d) The main and interactive effects of categorical
variables on multiple dependent interval variables (IV) Cluster Analysis

a b ¢ d
1) Iv 1II 1 II1
2y II IV 1 11
3) II IV 1III I
4) IV 1III 1 II

Uliguied @&Imled SIUULL  CFTBESEHSHSGSL  OUT[HHSHEE06D LILIQUIEd @J6wiged 2 6iTerm
FnpIBemeNLl GUT(HHSHIS

Ul guied 1 U lguled 2
(a) emOWI(LPHB l.  ueiow LeterenL 6y
(b) uwgPmevs sSreaufleng (ewm Il. oEssmD LGLUTLIR

© gbopsmBu ey W wWHpL QTG OB ASBES
GuoBulL S#FbAHT wItleeEndE SemLuleorea o me)

(d) waemw LBBID 2 6TeFweOUT. B allenerTe semend . w@ermeur
CamewiL eufleng(penm LTMlséeT Leow &miy SenL Oleuer
LOMNSI 61T V. Ga1gd ugliumuiey

a b c d

1) IV II 1 II1
2) II IV 1 II1
3) II IV III I
4 IV III I II
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33.

34.

35.

When performing a Chi-square hypothesis test, what happens when expected
frequencies in several cells are too small?

1)  Value of y* will be overestimated

2)  The null hypothesis will be more likely to be rejected than it should be

3)  The degrees of freedom are greatly reduced

4) 1) and 2), but not 3)

md  0eawT  &mBICETAT  CaHTemeusF  CFwBuBSHID  Curgk  erFHTumiTehaslulL
BBLD6eueIH6T LIsbGeauml Helwenpserisd Wsab FABWSTE SHHHTED 66t HLHEGWD?
1) 2 el wdHiy Hems 2 5655 wHlLnEb

2)  Oeaummis smHICaTeT HyTasfdsliubBausBE i seuruiiy 1@

3) alBpmevd Camemmmiser QUKD GewBaHEILGLD

4) 1 LBLBID 2 SeImed 3 E606eN60

Y = a + bX refers to

1) Y = independent variable, a = slope of the line, b = Y intercept and
X = dependent variable

2) Y = dependent variable, a = slope of the line, b = Y intercept and
X = independent variable

3) Y =independent variable, a = dependent variable, b =Y intercept and X = slope
of the line

4) Y = dependent variable, a = Y intercept, b = slope of the line and
X = independent variable

Y =a+ bX giuiGeus

1) Y= gmrg B, a=agnuigen Cxsih, b=Y @ 8sr®, X =amiy Bemev

2) Y = gniiy Bplewev, a= gmiugpen Garh, b=Y @ Cas1® womid X = FMyms Henev
3) Y= gmns B, a= gy Heev, b=Y L Ca1®, X = gmuigen Gsn(

4) Y =gy pleev, a=Y @ Gan@p, b=gruiigen Gx1®, X = Fmyng Henev

The steps taken to solve a problem are given below. Arrange them in the correct order :
D Analyse

II) Test

III) Implement

IV) Evaluate

V) Document

VI) Design

VII) Develop

1) I VI VII 1I \Y I  1v

2y I 1II m I1v-- v VI VI

3) I VI IIr 11 Iv. VvV VI

4) I VI VII III I IV 'V

R dobsmend SHTHe  aBSILUUBL OFweouTiger  UgseT &6 SIUUL (HelTerer.
SluBenpdF Flwmer auflenguled QOMISMDGHSD.

D ugdsed

II) Gzitey

III) pLpBLILGSHSH6D
IV)  wginisd

V)  seuemb

VI) eangeueniori
VII) wperGeBm

1) I VI VIl 1II v Il IV

2) I 1I nmr 1mv- v VI VII
3) I VI Imr 1I Iv. v VII
4) I VI VII 1II m I1v Vv
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36.

317.

38.

What is the term used in Ansoff's matrix for increasing market share with existing
products in existing markets?

1)  Product development

2)  Market penetration

3)  Diversification

4)  Market development

sBlurgl  Fhmssellsd BBHEGL QUL EmeN  UBIEG  FhHmd  HevauJHIHBE
® WITHHIUSBEG DISIFI SLLMWILID 6hdh OFTeL LWSTLGSSLILIGSMBH?

1)  Qurmen (werGeBmLd

2)  omsmg Geuheimseo

3)  UTeIEUTEHBID

4) omsTy (WarGeampLd

1s the process that helps managers understand the nature of the
industry, the way firms behave competitively within the industry, and how
competition is generally undertaken.

1)  Market needs analysis
2)  Portfolio analysis
3)  Strategic market analysis

4)  Organizational analysis

CamPovssHFHar  Buieoenull  Ufbgd — Osmelenayb, G miHedled
Bpleuemiset GUTLigujemTTe] (emeliLL 6T BLbSH O@merend alswb, Gumlly GuTgieuTs
emmed GCuBosTateniuGsBg  aaumal uUBS SPbibal  CsTeten  GeoTenTaeEhaE
2_ 5D BEL (L[S

1) o9omsmgs ChmeuseT LGUILTLI

2) SLEUENTL GOLIL|eNMBLI  LiGLILITUI6Y

3)  eUMTWENLD HIRISTIQL LGLILTUIe,

4)  ppeuer uGUUTULIe]

In which industries is global competition more common?

1) where downstream activities or other tied activities are vital to competitive
advantage

2)  where the value chain functions are carried out at head office

3)  where upstream and support activities are crucial to competitive advantage

4)  in none of the above situations

aealaumsdd OFTfevsmsaies o evsenmuw  Gumily WSeD  FTeUFTHTIEIOTOIHTHS

STt LGS B ?

1)  ow'LdF GFweoun®hser (o) UB slriu’L QFwedur®haet Gumily HeveaTaenerLl
CUBIISDBES bS @)L L ST LOGAD BeTHIULIEnNLOWIT S 60

2) FHMUMID VOIS HH60  AIF  FRSNF  GFweourhHel  ymiGs  Faer
GopesmeieniiLI(h e ep3eot

3) Guweowl'L o gals Gewedum@aser Gumiigl uweaismen CUBIMISDHE <ybs @)L Lb
Sme LOSBYD  BesT3ILIENLOUITSH60T.

4)  GupOaTeter & pHlenevserilsd 6IHIAILDGTIBI
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39.

40.

41.

42,

is adding new, unrelated products or services for present customers.

1)  Concentric diversification

2)  Horizontal diversification

3)  Conglomerate diversification
4)  Product development

UHBTEE  FmbBHeorasF GaFTdslulLmed, OFHTLTUBB  CUTHL SH6l
Slevevg BFemeusdsell LHW aUTQHmBWITENTHEHHSHSH SHILILIGHS 6360,

1)  QuUTEkIEDWLILIT660TESHID

2)  SenLiol L LJeUeUTEHBLID

3)  OQuflw euewllad gnl igenemiey BIBIGUILI LFaUETEHHLD

4)  Gumrmer (WerGermBmLD

Internal strengths and weaknesses are usually

1) the major cause of organizational demise or success

2)  controllable activities within an organization

3)  most important for CEOs and the board of directors

4)  not as important as external opportunities and threats

2 _6lMeflllied LIGOBIGEHD, LIeVaIabISEHD GLTHIeUTS,

1) Pipeuer QauBpls@l (o) woBalBGL e (PHHUI STTEIOTES DIENLOSHBSHI

2) PBeISHBGHN SBUUGHSHHHES QFUICOLTHSHEI

3)  Bws@nTeelear @G WLBDID (WHetemod CFweoT &  DleialevTaEnd@ WSHa|D
(PSS WILDTETSH)

4)  ymeyevd UTWINILSET BDID DIFSFDBISHH0H6T CUTEIB DIGHHMT (LPHBUISHBHIAILD
2 ML UWSEINI

The Grameen Bank model is affectively used by which of the following institute?
1)  Education sector

2)  Finance Sector

3)  Rural Sector

4)  NGOs

SPHHENIL 61hFH HBIUTHHBGS HITO eumid OTLed LWaTUGSSUL (BeiTeng?

1) sevaldHHimns

2)  pgdsams

3)  Sgmiwssiens

4)  peeiteyd OHTewIB [HlHIeUaTHISH6N

The book “ Innovation and Entrepreneurship “is authored by
1) Stoner, Freeman and Sillbert

2)  Peter. F. Drucker

3)  Paul and H Wilkon

4)  Gene Burton and Manab Thakur

SemiBLIglIL LBBID SFUWOSTHEL (HHEMLD 616 HITEN6L 6T(LRSUIGUT
1) ero@LmeorT, Lifioedr LoBmIDd FevEUITL

2) WLt F wréet

3) umed wBmid H efe0@smest

4) el UM LT LBBID LA SHTHET
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43.

44.

45.

46.

Match the following :

Factors of entrepreneurship development Element

(a) Support system I. Research and development
(b) Environmental factors II. Business policy

(¢) Socio — cultural factors III. Personality and attitude
(d) Individual factors IV. Living standard

a b c d
1) I Iv. 11 III
2) 1 Iom Iv III
3) 1 I Ir 1Iv
4) 1 ar 1v 11
SIPHHMILaUBMBL  GLIT(HHSHIH

GWOSHTH60 (PSTICRIBBS  FnMIH61T QuIT(HeTBTENLO
(a) glememIeND SIGHLOLIL] I. Symuisdl wBpib (perGemmmLd
(b)  FHPedwled FnmIH6IT II. Qzmpsd OmmeiTens
(c) Fewpsd UMTUTL (Hdhn1BIH6NT III. sueEpemd WBHBID BLSHMSH
(d) selpUT FapiBeiT IV. aunmpsemnssSb
a b c d
1) 1 Iv 11 III
2) 1 I I1v 1III
3) 1 IIr 1II 1Iv
4) 1 I I1v 1

1s thought as creative capital which is exercised to perform
economic functions different from other investment vehicles which primarily serve as
expansion capital.

1)  Share capital 2)  Fixed capital
3)  Venture capital 4) Equity capital
GSILGI  UMLLILTSES  (PpHeSH  eeiml  HHSLILBS MBS 9I5|

CQuTmeMTHTTEF Gawevder wWHBHID UL (WHeSLG euTsamser, alfleurds  (PHeOLTaLI
LWSTLI(BSBSI

D umg wse 2) Doy el

3)  aewisy WpwBd PHeSs 4)  Fwe WYHb

An entrepreneur doing business within the national border is called

1) International entrepreneurship 2) Intrapreneurship

3)  Domestic entrepreneurship 4) None of the given options

Q@ SwWosmfed (oGt Gxhg  eedmeud@el  OCamfled  GFuleugd  BmImeDd
SIMPSBLILBH MBS

1) gTealss Camped pemerGeuit 2)  swOsmed (penetGeurmfluib

3) 2 epT.(BsH Czmhed wemeGaumfwib 4)  SIUULLeUBBIET IHeD STl

Mathematical formula to calculate human relations is n(2n/ 2+n- 1) Hence n is

1)  Employees 2) Executives

3)  Number of subordinates 4) Managers

el o meydmend SeibHLL LWSLGSHSLILBLD Hewid  eumlIiium® n(2n/2 +n-— 1).
@BFev n el

1)  eamfuwimsel 2)  miTeundsei

3) o _sgalliuemiwmenTedengl elewienldms  4) BLoeumeTTER6IT
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47.

48.

49.

50.

The ethical dilemma of choosing between two rights refers to

1)  choosing between the lesser of two evils

2)  deciding which of two employee rights is the most important

3)  deciding to offer a bribe or lose out on an important opportunity

4)  choosing between the two types of sexual harassment

@reni® o flevwsepdSemruled GHiTey OGauleugded alwplwgd SEOTHBBL B

Glulk el

1) @i SweteuBpleT GephoHeralaiensd CxHiTe) GCFuisHsd

2)  eapsp @rewih eampuwit o flenwsefled Wdad (PSHIWILDTEHISH 6THIBI (PI96] CIFUIHED

3) @ WhHwiomer euTuilienl @6evehdld HhHH OCLUBIUST DleV60H GSOLILIST 6T6iIml
SHTLOT 60T & FH60

4)  @rewih alxh uteduwed CFHTeLmeVHEHHEG Bl Cw BxiTe GFUIgHe0

definition of marketing is inappropriate in the present day business
environment characterized by intense competition and ever changing needs and
tastes of consumers.

1)  Market oriented 2) Consumer oriented
3)  Product oriented 4) Social marketing oriented

D SIRSTYLILGSHHIHD auenTweny CUTHWISHTH. BeitemmuL
aeladF gbbenev, Spwiomet Gumily, eIGumgId wId C&TeamiCL EmeE& CHemeausel
BB BHISTCMTTHI FMeUL|EITAHET GHBSHHUBENB 266 &HHaT606M6V.

1)  omsng GpBwmenms 2) msfCaunm GEMILLLL g

3)  Qummer GBMILILILLGI 4)  Fwws MSTYILGSHHE0 FThHSHH

Ethics is concerned with the goods worth seeking in life and with the rules that ought
to govern human behaviour.

1)  Social pressure 2) Social torture

3)  Undue influence 4)  Social interaction

OIBOBB  asiug  eumbelsd  wHY  WEBmBH BCHBHL, NGH  BHLHMBHEMW
BTSN SHHHESG S (LPOBEH6T FThHH!

1)  swps DWHILD 2) Fps UM

3)  ems urdiiy 4)  FepasF OFT60EVTL 60

“A political party consists of a group of citizens , more or less organized , who by the
use of voting power aim to control the government and carry out their general
policies. Who said this ?

1) M. Duverger 2)  Schumpeter

3)  Grettel 4)  Joel dean

QM Spdfwed &4 FBCBBSGHMBL PURGUGSSILLL  GHUWIL B  GIQLO&HMETSH
CETewI(heTeNl.  YUTHGT FT6T UTHG MO HLBBEOTEL SHFFTHRISHMSBS &L BLILIGSHHID
BHGLET,  FHhFBeNFH  OuTHieuTenr  OFTeTemdemenF  CFUBUBSHIFBIISET  6TIHI
2 _emyshHeuT wmr?

1)  eb. HIGUTHT 2) 6YOBIDLIL LT

3) &fMLOLed 4)  Gxmuied 1Leer
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ROUGH WORK
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